i

el

69 (2) |eltk 7+

=
T

FA 39| (1) |

1.

Aoz v A2 AL

<k

® Al =, ol



2. ohg A FolM B AL

}7hs

o
o>,
ol
rlo

© BT gHgolch

@ g2 AtHot Aok

® HEAZe] 37 A= Lk
@ a>0,b>0°]" ab< 00t

® a, b7} FA501H g 4 b= A7} of T},



T

ol
__O_l

<+

@ 5-3=1

® z+3



e o7} gt

—1°]9 2a + 3 =00°|th.

© a

@ 2r—-1<0

o2 o|2ol grk.

o
T
olJ
e
~

~H

o

ol
N

—

@ 4x+3




o|J
S
)

the % A7t of

o,

]_
E

© A7 Al W A271€ %

® @ ® 0,0

ON®

® 0,06,0

@ 0,0,



@ 15 o Hj=o] ™ 3 o] Hij4-olt,

@ z=209°]H 2z =4 o|t},

® z=2,-20°|H g2 =4 o|t}.



Az =p oW 3z+2=8oltk o o] B u, p o] 7L Fatolat.



w_e

_Zﬂ

o]_g
&5}
old 3
A7}

ol

®
@)
49 ©
=]
32

0]
SEE
©
=1y

o
Xlo

©

ﬂo

BEo

@
Q4= ©



o2 19| ZCBA = ZDAB, ZC = /D ©|¥1 AC=BD 4= 549
7

= Ttk Oh o] SoiZ AR A e ALY

C D

LN\

A B

714] ZCBA = ,/C=/D
ACAB ¢} ADBA A
5

Z/CBA = /DAB (7}4)
Z/CAB = 180° — (£/C + ZCBA) = 180°— (| @) |) +4DAB)

D Y ZDAB @ W AC=BD ® @) AB

@ @@ 4B ® () ZDBA



tha Z™olA AF $19] = & 0 ¢ A 1+ 22 AABC 9] &4, WiAlolth

10. 7)
/BAC =74° ,AD=CD ¥ W, £z 9] 27|15 F5}H?
A
74°
: D
OTE
D F A\

@® 62° @ 62.5° ® 63° @ 63.5° ® 64°



